FTHRFA (AFR)

B H - S F064E 128228 BBA )= FT
(=LA KE 4 ouT IN GR HDCP NET "%E (=LA K 4 ouT IN GR HDCP NET "%E
B HmE B 44 48 92 29 63 31 R R OE 52 53 105 26 79

2 =% ¥ F 45 45 90 22 68 BG A-1 32 BE #_ZH 54 52 106 27 79
3 & R 50 55 105 36 69 33 BR &= 46 44 90 11 79
4 X® FA 47 44 91 21 70 34 MW = F 54 59 113 34 79
5 &2t BE 47 55 102 31 71 35 n £ & A 57 58 115 35 80
6 A & 47 48 95 22 73 36 BEH E4&% 48 51 99 19 80
7 BE EH# 40 46 86 13 73 BG A-II 37 B X F 48 55 103 23 80
8 7 NEE - 3 44 48 92 18 74 38 INRE SR 48 47 95 14 81
9 & IE B 48 50 98 24 74 39 LRI EZ 54 56 110 29 81
10 Kb ot 46 46 92 18 74 40 Bl 'k 55 56 111 29 82
11 XiH = 49 54 103 28 75 4 b B W 49 52 101 19 82
12 Z2H RX 49 48 97 22 75 42 R L) 50 56 106 24 82
13 a5 O ® 47 45 92 17 75 43 - i 52 52 104 22 82
14 HE =XB 47 58 105 30 75 44 ot ®B 49 53 102 20 82
15 mE BB 50 50 100 25 75 45 2% BB 51 55 106 23 83
16 &8 A sk 53 54 107 32 75 46 wmFEx FiA 54 52 106 22 84
17 il S - L 48 51 99 23 76 47 tR ExF 61 60 121 37 84
18 'k T ® 53 52 105 29 76 48 B & & 48 54 102 17 85
19 €8 HE 48 47 95 19 76 49 i R OE 53 56 109 23 86
20 BOX i) 49 47 96 20 76 50 X% BA 55 59 114 26 88
21 B & - 44 51 95 19 76 51 W F B 64 50 114 22 92
22 =®H B® 44 47 91 15 76 52 B B A 62 58 120 28 92
23 ¥ B %= 55 59 114 38 76 53 . A B X 70 61 131 24 107
24 N KE O OE B F 49 49 98 22 76

25 wAxX #BIA 53 53 106 29 77

26 2N BE 51 50 101 24 77

27 Bl B E 48 52 100 22 78

28 Bt EF X 47 49 96 18 78

29 =& =R 56 63 119 41 78

30 b A 51 57 108 29 79
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FTHRFA (BHR)

BRfE R HFI065E 128228 BBEHAEY—DFT
NIE sz K % ouT IN GR HDCP NET kel NIE sz K % ouT IN GR HDCP NET EE
2% FEEFE —H 43 43 86 20.0 66.0 51 XK MK 47 44 91 8.0 83.0

2 RHEKRK BRI 43 39 82 10.0 72.0 52 R O®E 55 48 103 20.0 83.0
3 2 & 38 40 18 6.0 12.0 53 = # M O=E 52 54 106 22.0 84.0
4 =% EB 42 50 92 19.0 13.0 54 W M F 50 47 97 13.0 84.0
5 /N T 43 41 84 11.0 73.0 55 n| Bz 52 51 103 19.0 84.0
6 =Y # 49 47 96 22.0 74.0 56 == B8 46 51 97 12.0 85.0
1 = U B’ F 53 47 100 26.0 14.0 57 B F - 54 54 108 22.0 86.0
8 & & A 52 50 102 28.0 14.0 58 = 5 # 54 61 115 29.0 86.0
9 AR K& 44 45 89 15.0 74.0 59 B 5t 54 58 112 26.0 86.0
10 F B8 - 47 46 93 19.0 14.0 60 F ol B 53 52 105 19.0 86.0
11 HE R 49 49 98 23.0 75.0 61 RE &R - 57 60 117 29.0 88.0
12 AR LE 44 42 86 11.0 75.0 62 # 73 57 55 112 24.0 88.0
13 R K %X 53 46 99 24.0 75.0 63 ZH 2 a 54 57 111 22.0 89.0
14 ¥ H Mt 44 43 817 12.0 75.0 64 xH HM 54 62 116 26.0 90.0
15 iE ORX 49 47 96 20.0 76.0 65 HR @& = 50 44 94 4.0 90.0
16 mE |Z 46 45 91 15.0 76.0 66 K H#H FBR 59 56 115 25.0 90.0
17 T %k H 43 48 91 15.0 76.0 67 MEBH BX 60 58 118 25.0 93.0
18 BEX EBH 43 44 817 11.0 76.0 68 = 67 61 128 31.0 97.0
19 BH #wo 52 50 102 26.0 76.0 69 X &= 61 63 124 26.0 98.0
20 BE #—8 42 52 94 18.0 76.0 10 B W 62 55 117 16.0 | 101.0
21 5 W 1 41 42 83 1.0 76.0

22 & ¥ E 48 47 95 18.0 71.0

23 22X E A 46 44 90 13.0 71.0

24 HE &5 45 46 91 13.0 18.0

25 mE ®BE 45 50 95 17.0 78.0

26 HE &K 58 52 110 32.0 18.0

2] 5h B & — 47 47 94 16.0 78.0

28 WK b 43 50 93 15.0 78.0

29 K OF= 42 36 18 0.0 78.0 BG

30 X ¥ B I 43 53 96 17.0 79.0

31 /NS S| = 53 52 105 26.0 79.0

32 H A i3 50 45 95 15.0 80.0

33 N w2 57 43 100 20.0 80.0

34 @B ER 54 51 105 25.0 80.0

35 XR X # 55 54 109 29.0 80.0

36 Bl R X 50 46 96 16.0 80.0

37 it ¥ & 50 48 98 18.0 80.0

38 # E KX 49 46 95 15.0 80.0

39 ER #N 46 38 84 4.0 80.0

40 MR E R 48 48 96 15.0 81.0

41 Ak &8 # B3 51 57 108 27.0 81.0

42 E X Eid 47 46 93 12.0 81.0

43 ER F &R 47 46 93 12.0 81.0

44 & ot & A 54 57 111 30.0 81.0

45 # £ #K 52 50 102 20.0 82.0

46 £H EB 47 44 91 9.0 82.0

47 W ORE 53 50 103 21.0 82.0

48 B & Eid 52 53 105 23.0 82.0

49 MR F R 40 51 91 9.0 82.0

50 NS S 60 57 117 34.0 83.0
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